H.S. 1st Year Test Examination-2022
Goalpara College
Subject - Physics ‘
Full Marks : 25 Full Mark= 50

1. Assamese the following Question : _ 1x5=5
a) State Boyle’s law and Charles law. 1
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b) State the Kelvin Planck and Clausius statement. 1
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c) What do you mean by unit ? 1
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d) What is critical velocity ? 1
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€) What is the SI unit of pressure ?
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2. Answer the following questions, 2x6=12
a) Discuss the law of equipartition of energy. 5
=g 379 Reqelq JTACH! S5 3541 |

b) Find out the value for the ratio of specific heat ¥ fora

monoatomic gas. 2
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c¢) What is the Relation between surface tension and surface energy. 2
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d) Write the definition of elasticity ang give one example. 2
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e) Whatis instantaneous velocity and insantaneous acceleration 7 " 2
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f) Write the dimension of given quantities.
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Density (¥19), Coefficient of elasticity (FEfSBI%1F @41T)
Work (1), angular acceleration (TF19F T1)
Show that C,-C,=R 3
e 8- C-C,=R
Derive Stoke’s law by dimensional analysis 3
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Obtain equations of motion for constant acceleration using method of

calculus. 3
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The SHM equation executed by a particle is given by
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Calculate its (i) displacement at 1.25 sec
(ii) velocity at 2.5 sec

(iii) accelearation at 5 sec
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(ii) 2'5 TS
, (i) 5 TREPVOG AFI F 1.
Write Short Note (Any two) 561! ol (RCSIe! 7ot) 2x3=6
a. Venturi meter (9% fSGR)

b. Radiation (Rf&<9)
¢. Damped Vibration (SRS F9I)

Describe Carnot’s cycle and derive its efficiency.
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Write the definition of simple harmonic motion. Show that the motion
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of simple pendulum isa harmonic motion
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Find the magnitude and direction of the resultant of two vectors 7\

and é’ in terms of their

magnitudes and angle @ between them (if the value of @ is 180°,

90° and 0°)
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